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I. IRADER
1. KBIRA ( 3,300,000 ) (¢ 3,300,000 )¢ 0)
AZBEREIINA 1,000,000 1,000,000 0
BEEXEILA 500,000 800,000 A 300,000
CEEREIIA 500,000 500,000 0
DEEREINA 1,100,000 1,000,000 100,000
GRERERA 100,000 0 100,000
KEEREILA 100,000 0 100,000
2. BHELIT-IRA ( 8,000,000 )¢ 8,000,000 )[{ 0)
EIF—EERIRA 7,800,000 7,800,000 0
M REEILA 100,000 100,000 0
EEMHHESULA 100,000 100,000 0
3. HEHHESIRA [ 3,000,000 H[{ 3,000,000 )¢ 0)
4. MERAFEFRA [ 1,000,000 Y| 3,000,000 )[{ A 2,000,000 )
5 BEIRA ( 500,000 )|{ 500,000 )| 0)
6. ZFMEULA ( 8,000,000 H[{ 5,600,000 )¢ 2,400,000 )
7. FEULA ( 10,000 Y[ 500,000 ) (¢ A 490,000 )
8. HBEEHIIA ( 400,000 )| 2,000,000 Y| A 1,600,000 )
9. MUXA ( 320,000 (¢ 100,000 Y| 220,000 )
LHURAERT (A) 24,530,000 26,000,000 A 1,470,000
ATHARR RN 4B 33,354,947 17,588,352 15,766,595
IRAE& (B) 57,884,947 43,588,352 14,296,595
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[1] WMAZHDOFED (B4 )
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1. B%% { 19,690,000 )|( 20,460,000 ) [{ A 770,000 )

1) AHE ( 3,040,000 )(¢ 3,010,000 (¢ 30,000 )
HBHFH 2,700,000 2,700,000 0
EERAE 200,000 250,000 A 50,000
BHNELEE 140,000 60,000 80,000

(2) BXREE ( 16,650,000 (€ 17,450,000 )|€ A 800,000 )

BER 3,000,000 3,500,000 A 500,000
WREXBE 300,000 300,000 0
RERIZ 2,000,000 2,500,000 A 500,000
BEEHEAE 3,000,000 3,000,000 0
ERTHEERE 1,000,000 1,000,000 0
BIEE 2,000,000 2,000,000 0
EHEAME 400,000 400,000 0
VI AHEEE 4,800,000 4,600,000 200,000
HREAE 100,000 100,000 0
HE 50,000 50,000 0

2. BBE ( 4,740,000 (¢ 5,440,000 Y|{ A 700,000 )

1) AHE € 3,010,000 )[€ 3,010,000 )€ 0)
HBWHFS 2,640,000 2,700,000 A 60,000
EERAE 200,000 250,000 A 50,000
RAELEE 170,000 60,000 110,000

(2) —MERE € 1,730,000 Y[¢ 2,430,000 (¢ A 700,000 )

RE 710,000 790,000 A 80,000
SEVE 100,000 350,000 A 250,000
WREXEE 300,000 300,000 0
ZILFHUH 20,000 20,000 0
e 400,000 570,000 A 170,000 |« meszas
AR 200,000 400,000 A 200,000 |«2 A% HEE:
3. FlRE ( 100,000 »{{ 100,000 »|{ 0)
LEIXHER (C) 24,530,000 26,000,000 A 1,470,000
LHEIINZZEE (A)-(C) 0 0 0
REAHEHIN L =58 (B)-(C) 33,354,947 17,588,352 15,766,595




